MODEL #

FM3424CH-T-5PK
FM3424WH-T-5PK

Questions?

GIVE US CALL: 1-888-980-5122
MON-FRI 8:30AM - 5:30PM (PST)

VERSION # 04-04-24

(Included) @

Allen Wrench

Screwdriver
(Not Included)

2 - People

0000 ©

EASY DIFFICULT

The Assembly Rating is a
5-point system showing the
level of effort needed to
assemble a specific product.

1/10




.\ 020190 00 0 0 \Al ver2 - IDF image (2).if




.\ 0120190 00 00 0 \Al ver2 - IDF image (3).if




.\0 020190 O O O \Al ver2 - IDF image (4).tif




FM3424CH-T-5PK
FM3424WH-T-5PK

J
Table Top Table Leg
1pc. 4pcs.

5/10



@ @ @
@ O = | )

Bolt @5/16" x 2-3/8" Lock Washer @5/16" Flat Washer @5/16"x19mm Allen Wrench 4mm
8pcs. 8pcs. 8pcs. 1pc.

6/10



ASSEMBLY INSTRUCTIONS

H2— T / \

This product is intended for RESIDENTIAL USE ONLY and not for commercial use.

7/10



FM3424CH-T-5PK
FM3424WH-T-5PK

U
Chair Back Wooden Seat Chair Leg
1pc x 4. 1pc x 4. 2pcs x 4.

8/10



@
=)

Lock Washer @1/4
10pcs x 4

Bolt @1/4" x 1-3/8"

Bolt @1/4" x 2-3/8"
2pcs x 4.

Bolt @1/4" x 3"
4pcs x 4

4pcs x 4

®

Flat Washer @1/4"x19mm
10pcs x 4.

Allen Wrench4mm  Wood Dowel @10*30mm
1pc x 4.

1pc x 4

9/10




ASSEMBLY INSTRUCTIONS

jg%, WOODEN DOWEL ¢
|
o

#2 #3

0
a
U
0

8
a
U

0

This product is intended for RESIDENTIAL USE ONLY and not for commercial use.

10/10



